_-op ADZID(F AT
Esrt FE EAVRT 10BAS(2) U10

>
L]
[
M
[T
¥
un
[T
1)

1|e|¥RES F NICC S| 8 4-3 4-0 2-0| 1Mz
2|7 N F§3A JPAVRTF-2AREE | B[ 9| 3 -4 4-0 1-1| 24z
3| FFH HZ JUSFZRN-TAekt | BiE|10] 0 - 4 0-4 0-2| 31
4
B_J[] = =) = = M Y

1|7e7|\ElE 4 AEATUSF =R | i |10 4-1 0-4 1-1| 3Mu
2| | Pis STiRF—Z2tE>9— | &iE|10] 1-4 0-4 [0-2]| 4fu
3|es| Bk RS OfvLbL'8iTC |EM|9| 4-0 4-0 (2-0| M
4 || 5 2% EIRTCO S| 7 4-0 0-4 1-1| 211
UL—)L-EE5IE] (S>> TMA> MR 53]

PRI NBRIBI M —F X MATRVES . 1,260 h 3,46h—FX0h  ChLEBEEELN,

-BJOvWIiR A A, 1vs2-3vsd/1vs3: 2vsd/ D258 EZITVET

JBACRTEF AL, OB QEER OBKmE @70+ DIEETRELET,
T 45 - LB TR T-SHFROFE

K 64— LR TR\ F—SAROFE


http://www.spojin.com/ranking/pdf/20160201ranking.pdf

0} ADZAD D2 (FADYT

7 FE REAR? 108AR(2) U10

1,2 =X~ 3,40 b= AT
e F FH HF=
NICC JUSF =N -T4ekt
RE F i) || e
64
&=H #EzE =)l s
EIXTCO IRT At A~
=K sl )| e
61 65
NHEH %554 bye
JPASNT TR
=K st
= - N 63 [ I I RN
=K st i 4

O4v7)Le)L’81 TC AU T ZRIN=Y



04 RIZAIDF AT

'4:’5/17@555?%@ ~ ) Py
SrUITvn5 gE RHAVR 10HXK=(2) U112
AWall 1 AL = s 5
1|31 == 0 VR B |11 4 -0 4-3 2-0| 1M
2| [JASE BS54 LshtorF=227-)L | B 11| 0 - 4 0-4 0-2| 31
3|sas| Bl {5NE JARTUSF=Z-4 | Bik|12| 3 -4 4-0 1-11| 24z
4
BT i 5 = G
1 |226| KN5Kk FOA8T -2+ ) CHEBRsH Bt (10 4-0 4-1 2-0| 1fI
2| |BEEN BEAE M—t>hs=zr57eEd | B (11 0 - 4 2-4 0-2| 3z
3 || L E BBZS U7 sarhss-mEsk | (10| 1 - 4 4 -2 1-1| 241
4
Ub—)L -3 B ZEIE) (5>oF> 01> MR oY)
TR, BRI N—F X MEATRWES, 1,26Ih—F XN 3,46 h—F Xk CHLESEEESN,

SRETEEL 1vs2-3vsd/1vs3-2vsd /D2 EZITVET,

JBACRTEF AL, OB QEER OBKmE @70+ DIEETRELET,
“FiE 45— LNERR/ TR\ F-SHROFE

ARE 64— LFEREU-T RO TF-SHAROFE


http://www.spojin.com/ranking/pdf/20160201ranking.pdf

_—tp AR D2EF AT

e FE RAAYRY 10BAS(2) U12

1,2 =Xk 3,4 = AT b

=% HE A B

a2 ﬁl]ﬁR U.l ULHhEORTZAZI-)
EE BR HEZY HEfE
JT FZATHhT S EK - t’/r\T_XIJUjEEP

Aok FOtE

. N 62

=5 4G
ARV FTZZIN=5

Ak FOts

. 64
sk FOAE

- R+ )CEHA




ki

FplLIS vy

!!!!!

[10m%LL T DEF]
B : =X 5 RE(E)
#@B: e F BEF(E)

(12T DEF]
20 . WKk M BF(H)
@RS : = AE BE(E)




